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REVIEW 5.1 – 5.4

SHOW ALL WORK ON SEPARATE PAPER

DERIVATIVES:  Find 
[image: image1.wmf]dx
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 for each of the following.
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11)  Use logarithmic differentiation:  
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12)  If the slope of a strictly monotonic function  f  is 
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13)  Show that 
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27)  Find a particular solutions to the differential equation 
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28)  A population P of bacteria is changing at the rate 
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 where t = time in days. The initial population is 1000.  (a)  Write an equation that gives the population at any time t.  (b)  Find the population after 10 days.
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